
Short Answer Type Questions – I 

[2 marks] 

 

Que 1.  Evaluate cos 48° cos 42° - sin 48° sin 42°.  

Sol. cos 48° cos 42° - sin 48° sin 42° = cos (90° - 42°) cos (90° - 48°) – sin 48° sin 42°  

        = sin 42° sin 48° - sin 48° sin 42°   [∵  cos (90 − 𝜃)  =  sin 𝜃] 

        = 0 

Que 2. Find the value of: 3 sin2 20° - 2 tan2 45° + 3 sin2 70° 

Sol. 3 sin2 20° −  2 tan2 45° +  3 sin2 70° 

        = 3 sin2 (90° − 70°)  −  2(1)2  +  3 sin2 70°  [∵  tan 45° =  1] 

        = 3 cos2 70° −  2 +  3 sin2 70°   [∵  sin (90 − 𝜃)  =  cos 𝜃] 

        = 3 (sin2 70° +  cos2 70°) −  2 

        = 3 × 1 − 2 = 3 − 2 = 1.    [∵  sin2 𝜃 +  cos2 𝜃 =  1] 

 

Que 3. If sin2 A = 2 sin A then find the value of A.  

Sol. sin2 A = 2 sin A.  

        ⇒    sin2 𝐴 − 2 sin 𝐴 = 0    ⇒       sin 𝐴 (sin 𝐴 − 2) = 0 

        ⇒  either sin A = 0     or    sin A – 2 = 0. 

        ⇒   𝐴 = 0°     [sin 𝐴 = 2, 𝑁𝑜𝑡 𝑝𝑜𝑠𝑠𝑖𝑏𝑙𝑒] 

        ∴ Value of ∠𝐴 = 0° 

Que 4. Find maximum value of 
𝟏

𝒔𝒆𝒄 𝜽
, 𝟎° ≤  𝜽 ≤  𝟗𝟎°. 

Sol.  
1

𝑠𝑒𝑐 𝜃
, (0° ≤  𝜃 ≤  90°)  (Given) 

∵  sec 𝜃 is in the denominator 

∴  The min. value of sec  𝜃 will return max. Value for 
1

𝑠𝑒𝑐 𝜃
. 

But the min. Value of sec 𝜃 is sec 0° = 1.  

Hence, the max. Value of 
1

𝑠𝑒𝑐 0°
=

1

1
= 1. 

Que 5. Given that sin 𝜽 =
𝒂

𝒃
, find the value of tan𝜽.  

Sol. sin 𝜃 =
𝑎

𝑏
 

        ⇒   cos 𝜃 = √1 − sin2 𝜃 = √1 −
𝑎2

𝑏2
= √

𝑏2−𝑎2

𝑏2
= √

𝑏2−𝑎2

𝑏
 

   tan 𝜃 =
sin 𝜃

cos 𝜃
=

𝑎 | 𝑏

√𝑏2−𝑎2

𝑏

=
𝑎

√𝑏2−𝑎2
 



Que 6. If sin 𝜽 = cos 𝜽, then find the value of 2 tan 𝜽 + cos2 𝜽.  

Sol. sin 𝜃 = cos 𝜃 (Given) 

        It means value of 𝜃 = 45° 

        Now,   2 tan 𝜃 +  cos2 𝜃 =  2 𝑡𝑎𝑛 45° +  cos2 45° 

     = 2 × 1 + (
1

√2
)

2

 (∵   tan 45° =  1, cos 45° =  
1

√2
) 

     =  2 +
1

2
=

4+1

2
=

5

2
 

Que 7. I sin (x - 20°) = cos (3x - 10)°, then find the value of x.  

Sol. sin (𝑥 − 20)° =  cos (3𝑥 − 10)° 

        ⇒   cos [90° − (𝑥 − 20)°]  =  cos (3𝑥 − 10)° 

        By comparing the coefficient  

  90° − 𝑥° + 20° =  3𝑥° − 10°   ⇒   110° + 10° =  3𝑥° +  𝑥° 

         120° =  4𝑥°     ⇒   𝑥° =  
120°

4
= 30° 

Que 8. If sin2 A =
𝟏

𝟐
𝐭𝐚𝐧𝟐 𝟒𝟓°, where A is an acute angle, then find the value of A.  

Sol. sin2 𝐴 =
1

2
tan2 45° ⇒ sin2 𝐴 =

1

2
(1)2 [∵   tan 45° =  1] 

        ⇒   sin2 𝐴 =
1

2
  ⇒ sin 𝐴 =

1

√2
 

Hence, ∠𝐴 = 45° 


